Mathematics – Algebra EOC

Curriculum Development and School Improvement- Secondary

MA.912.A.4.3 – Worksheet 1

Name:  ______________________________________ Date:  ____/____/____ Period:  _______
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, which of the following shows the expression below in simplest form?
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2.  If 
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, which of the following shows the expression below in simplest form?
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3.  If 
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, which of the following shows the expression below in simplest form?
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4. If
[image: image19.wmf]3

11

-

¹

x

, which of the following shows the expression below in simplest form?  
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5. Palm Beach High School band members are raising money for a trip to the Macy’s Day parade.  Their fund raiser is to sell pizzas that they create and freeze.  The sponsor wrote the expression below to help calculate their total expenses.
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    Where:


p = cost of one pizza crust and sauce


c = cost for cheese for one pizza


t = cost for toppings for one pizza


n = number of pizzas

Which of the following expressions is equivalent to the expression above?
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